
Troubling Tides 
Part 3: Say It Isn’t So 

 
Name____________________ 

 

1. Use the prompt below as the beginning of the first sentence of a constructed 
response. The response needs to be five to six sentences (25 points) and include 
four of the five following vocabulary terms: sea turtle, inundate, sea-level rise, 
nest chamber, extinction. (25 points) 

 

It is predicted that sea-level rise will reduce critical habitat of sea turtles because:  

 

 

2. Write a constructed response that disagrees or agrees with the prompt below. The 
response needs to be six to seven sentences and include a summary sentence at 
the end (30 points). Use four of the five vocabulary terms provided: inundation, nest 
chamber, storm surge, clutch. 

 

Sea turtles may become extinct in the next 50 years because of sea-level rise.  

 

 

 

 

 


